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1. The side of a square is 5 m and the

perimeter a rectangle is equal to the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CltzG0DFEQWo

perimeter of the square. If the length of the
rectangle is 6 m, then find the ratio of the

areas of the square and the triangle.

° Watch Video Solution

2. A sign board indicating SCHOOL ZONE is in
the form of an equilateral triangle with
perimeter 120cm. Find the length of the side

of the equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_CltzG0DFEQWo
https://dl.doubtnut.com/l/_ruOvjYmuSy71
https://dl.doubtnut.com/l/_e7g47j60Cl7S

3. If the three sides of a triangle are the
distinct prime factors of 225 (in cm), then find

the perimeter of the triangle.

° Watch Video Solution

4. Write the number of vertices, edges and

faces of a pentagonal prism ?

o Watch Video Solution



https://dl.doubtnut.com/l/_e7g47j60Cl7S
https://dl.doubtnut.com/l/_WvUj9nlxeWQq

5. The diamensions of a gift box are
1.8 x 1.bem x 0.8cm.Find how much gift
paper is required to cover it ? (Ignore the

overlaps)

° Watch Video Solution

6.If the lateral surface area of a cube is 72 sq.
cm , then find the total surface area of the

cube.

° Watch Video Solution



https://dl.doubtnut.com/l/_9n9tSFK3tuii
https://dl.doubtnut.com/l/_Ic4UPch9pT4r

7.The inner dimensions of a geometry box are
12¢cm x 8cm X 2em . How many erasers of
length 4cm, breadth 2 cm and height 1 cm can

be placed in the geometry box ?

o Watch Video Solution

Very Short Type Questions

1. if the length of a rectangle is equal to the

breadth of the rectangle then the rectangle


https://dl.doubtnut.com/l/_Ic4UPch9pT4r
https://dl.doubtnut.com/l/_0E6swIwQmTnE
https://dl.doubtnut.com/l/_Onx0eSdT5H2x

becomes a

o Watch Video Solution

2.The side of an equilateral triangle is 672 cm

long, then the perimeter of the triangle is

° Watch Video Solution

3. The lengths of two sides of an isosceles
triangle are 2016 cm and 2017 cm, then the

maximum possible perimeter of a triangle is


https://dl.doubtnut.com/l/_Onx0eSdT5H2x
https://dl.doubtnut.com/l/_Kku3F20Esz9k
https://dl.doubtnut.com/l/_ywXnqKXWqZ3a

A. 6050 cm

B. 5050 cm

C. 6040 cm

D. 7050 cm

Answer: A

o Watch Video Solution

4.If the sum of the length and the breadth of
rectangle is 1009 cm, then the perimeter of

the reactangle is


https://dl.doubtnut.com/l/_ywXnqKXWqZ3a
https://dl.doubtnut.com/l/_mLoUBQgbRxOy

A.1018 cm

B. 2018 cm

C.3018 cm

D. 3108 cm

Answer: B

° Watch Video Solution

5. A square of the perimeter is p units, then its

area is sq.units

| 8 l


https://dl.doubtnut.com/l/_mLoUBQgbRxOy
https://dl.doubtnut.com/l/_0u7qKoQjMPAJ

6. If the angles are in the ratio 1:1: 1, then the

ratio of their sides is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0u7qKoQjMPAJ
https://dl.doubtnut.com/l/_l8a89rGqIoWS

7. If the side of a square is doubled, then the

area of the square

A. remains same

B. becomes double

C. becomes triple

D. becomes 4 times

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_l8a89rGqIoWS
https://dl.doubtnut.com/l/_Gojn6YJEgPdV

8. IF the area of square is 25m?, then the side

of the square is

A. 125

B. 625

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1LNsTmN8R9eZ
https://dl.doubtnut.com/l/_nkQK5Lrqzthx

9. The area and perimeter of a square are

numerically equal, then the numerical value of

the side of the square is

A3

B.4

C.5

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nkQK5Lrqzthx
https://dl.doubtnut.com/l/_r2Bp49V93el1

10. The length and breadth of a rectangle are

in the ratio 3:2. The perimeter of the

rectangle is 10 cm, then its length is

A2

B.5

C.3

D. 4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r2Bp49V93el1

1.In the given figure, ABCD is a rectangle and

ADEF is a square . The area of
. 49
AADEstSq. cmand CE = 2DE.
A F B
D E C :
Using

the above data, match Column A wih Column

Lo

o View Text Solution



https://dl.doubtnut.com/l/_AIHfjUig1UPv
https://dl.doubtnut.com/l/_SFrUidwy20Li

12. The total surface area of a cube of an edge

10 cm is

° Watch Video Solution

13. The volume of a cubiodal box is 24cm? and
base area is 12 sq. cm , then the height of the

box is

° Watch Video Solution



https://dl.doubtnut.com/l/_SFrUidwy20Li
https://dl.doubtnut.com/l/_FHO5OEBg7dh5

14. The perimeter of a base of a cuboid is 16
cm and the height of the cuboid is 2cm, then

the lateral surface area of the cuboid is

o Watch Video Solution

15. The sum of the lengths of all the edges of a
cube is 60 cm, then the length of the edge of

the cube is

o Watch Video Solution



https://dl.doubtnut.com/l/_9ZRvKRbh3CMM
https://dl.doubtnut.com/l/_QxgST0GssWn9
https://dl.doubtnut.com/l/_2g7SLzjtFtZw

16. The edge of a cube is increased by 100 %
then the lateral surface area of the cube is

increased by %

o Watch Video Solution

17. The ratio of the lateral surface area and the

total surface area of a cube is

Al:2

B.2:3

C.3:2


https://dl.doubtnut.com/l/_2g7SLzjtFtZw
https://dl.doubtnut.com/l/_6FlpDZ1Zmqgv

D.1:4

Answer: B

o Watch Video Solution

18. The lateral surface area of a matchbox

which is 6 cm, long 2cm wide and 1.5 cm thick

is

A.30

B. 34


https://dl.doubtnut.com/l/_6FlpDZ1Zmqgv
https://dl.doubtnut.com/l/_OBYwUtxEh4il

C.42

D. 24

Answer: D

° Watch Video Solution

19. The tatal surface area of a cuboid which is

2.5 m,long 2m wide and 1.4m highis _ sq.cm.

A 11.3

B.22.6


https://dl.doubtnut.com/l/_OBYwUtxEh4il
https://dl.doubtnut.com/l/_Zuf3DJaQOnUJ

C.12.6

D.7

Answer: B

o Watch Video Solution

20. A cube is to be coloured in such a way that
no two opposite faces have the same colour,

then the minimum number of colours reuired


https://dl.doubtnut.com/l/_Zuf3DJaQOnUJ
https://dl.doubtnut.com/l/_K9lqk2Ln4TTb

A.6

B.2

C.3

D. 4

Answer: B

° Watch Video Solution

21. If the edge of a cube is doubled,then the

volume of the cube is  that of the initial

cube.


https://dl.doubtnut.com/l/_K9lqk2Ln4TTb
https://dl.doubtnut.com/l/_xA91Km7aVM6N

A. 4 times

B. 8 times

C. 12 times

D. 6 times

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xA91Km7aVM6N

(a) Number of vertices () (p) 5
of a triangular prism

(b) Number of edges of () (q) 12
a cube

() Number of surfaces () (s) 8
of a square pyramid

(d) Number of vertices () (1) 6
of a cuboid

22.

° Watch Video Solution

Short Answer Questions

1. Let a,b and c be the three sies of triangle (in

cm ) such that a + b = 2015, b + ¢ = 2016


https://dl.doubtnut.com/l/_umHjyspgyj6v
https://dl.doubtnut.com/l/_rfvpMYW4RlqI

and c+a=2017", then find the perimeter of the

triangle.

° Watch Video Solution

2. The area of a square field is 49m. How many
times Sunil has to run around the squrare field

to cover 224cm ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rfvpMYW4RlqI
https://dl.doubtnut.com/l/_2TA67yXY2Z5q

3. A rectangular' sheet is cut along its length
into five equal squares as shown in the figure.
The area of a square is 16cm?®. Find the

perimeter of the rectangle.

e TR

o Watch Video Solution

4. Four identical strips in the form of right

isosceles triangles are removed from the four


https://dl.doubtnut.com/l/_WQbFoLSDYvNs
https://dl.doubtnut.com/l/_4yG4KoF8SUQR

corners of a square sheet of side 8 cm. Find
the area of the remaining sheet, if the length

of each, equal sides of the triangles is 4 cm,

° Watch Video Solution

5. In the given figure, ABCD is a rectangle 1,lI

and lll are squares. Find the area of the


https://dl.doubtnut.com/l/_4yG4KoF8SUQR
https://dl.doubtnut.com/l/_JBsyQR14I3Qo

shaded region.

v

< 9cm

DW/////A " 4

° Watch Video Solution

6. From a square sheet of side 8 cm , a piece of
a paper width 2 cm is removed along the
border. Then find the area of the removed

piece of paper.

| & |


https://dl.doubtnut.com/l/_JBsyQR14I3Qo
https://dl.doubtnut.com/l/_dRivtKEa0glx

| ' Watch Video Solution |

7. A ball in the shape of rectangle is 16 feet
long and 12 feet wide. How many tiles with 2

feet x 1 feet are rquired to cover the floor of

the hall ?

o Watch Video Solution

8. Two persons A and B took a wire of equal
length 'A' bent in the form of a reactangle with

perimeter 12 cm. B bet it in the form of a


https://dl.doubtnut.com/l/_dRivtKEa0glx
https://dl.doubtnut.com/l/_E0SntbEL2Wrf
https://dl.doubtnut.com/l/_ITjbtEhCcUCZ

square, then find the area of the square , then

find the area of the square formed.

° Watch Video Solution

9. If the area of rectangle is 24 sq. cm and the
length and breadth are integers in cm, then
find the maximum possible perimeter of the

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_ITjbtEhCcUCZ
https://dl.doubtnut.com/l/_VKJn4hpDq6nb

10. The perimeter of a rectangle is 26 cm. The
length and the breadth of the rectangle are
integers. Find the number of possible pairs of
lengthand breadth. Also find the maximum

possible area of the rectangle.

o Watch Video Solution

11. Two sides of a triangle are 2016¢cm and 2017
cm), then find the minimum possible perimeter

of the triangle which is an integer in cm.

| & I


https://dl.doubtnut.com/l/_kQZqBC4y7WMt
https://dl.doubtnut.com/l/_0FBiAIZemHjh

| ¥ Watch Video Solution |

12. A Rubik's cube of edge 3 cm is formed with
27 identical cubes. Find the edge of each

identical cube.

o Watch Video Solution



https://dl.doubtnut.com/l/_0FBiAIZemHjh
https://dl.doubtnut.com/l/_jE2w4LTNoLz5

4cm
3cm Bcm
Jcm
5 cm 3 cm
Box «1 Box - Ii
4cm v
2cm 8cm
4cm ; '
4cm . 2cm
Box - 1l Box = IV

13.
Tarun made 4 types f boxes as shown in the
figure. Arrange them in the decending order of

their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_H2pOoAIf2IwN

14. The dimensions of a room are
20ft x 15ft x 12ft. Find the cost of painting

the walls of the room at rupees 20 per sq. ft.

o Watch Video Solution

15. Four identical square pieces of side 2 cm
are removed form the four corners of a square
sheet of side 6 cm. The remaining paper is
folded to form a cuboidal box without lid. Find

the outer surface area of the box.

| & |


https://dl.doubtnut.com/l/_85UYVC0cm3YP
https://dl.doubtnut.com/l/_a0qeQoFpTzhh

| ¥ Watch Video Solution |

16. The dimensions of a trench are
6m x 3m x 4.5m. Find the cost incurred in

digging it at rupees 250 per cubic metre.

o Watch Video Solution

17. A cuboidal container which is 30-cm long,
20-cm wide and 15-cm high is full of water. The

water is to be poured into cubical containers


https://dl.doubtnut.com/l/_a0qeQoFpTzhh
https://dl.doubtnut.com/l/_76lJVaLt1EZL
https://dl.doubtnut.com/l/_qpFf14PcbwEz

of each edge which is 10 cm. How many such

containers are required?

° Watch Video Solution

Concept Application

1. The floor of a study room is in the shape of a
rectangle, it is 12 ft long and 10 ft wide. How
many tiles with 2ft x 2f are required to cover

the floor of the room ?


https://dl.doubtnut.com/l/_qpFf14PcbwEz
https://dl.doubtnut.com/l/_Vx6AgS5tGJre

A. 120

B. 60

C.40

D. 30

Answer: D

° Watch Video Solution

2. The perimeter of a rectangle is 30 cm. The

length and breadth of the rectangle are


https://dl.doubtnut.com/l/_Vx6AgS5tGJre
https://dl.doubtnut.com/l/_92CsJLOOALBm

inegers in cm. Find the number of possible

pairs of length and breadth in cm.

Al

B.6

C.7

D.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_92CsJLOOALBm

A. 500

B. 650

C.750

D. 1500

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_mLTZhB5O82jk

4. Four dice of edge 1 cm are stacked so as to

form a cuboid. Find the total surface area of

the cuboid (in square centimetres).

A 4

B.8

C.9

D. 18

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bl3NNmYPq68Y

5. Two sides of triangle are 2018 cm and 2019

cm, then find the minimum possible perimeter

of the triangle which is an integer in cm.

A. 4037

B.4038

C. 4039

D. 8069

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gkxS5G63Ybvc

Assessment Test

1. The length of each equal sides of an
isosceles triangle is 13 cm and the perimeter
of the triangle is 36cm. Find the length of the

unequal side of the triangle.

o Watch Video Solution

2. A rectangle of perimeter 276 cm is cut into

five equal squares as shown below. Find the


https://dl.doubtnut.com/l/_mOwDlDnWWCog
https://dl.doubtnut.com/l/_tlWi7HdpU8kD

area of each squares.

° Watch Video Solution

3. Two identical rectangles of dimensions
8cm X 6cm are overlapping as shown in the

figure . The overlapped part is a square of side


https://dl.doubtnut.com/l/_tlWi7HdpU8kD
https://dl.doubtnut.com/l/_hEa6JJ88E1SS

2 cm. Find the area of the given figure.

8 cm

6cm

h

o Watch Video Solution

4.In the given figure, ABCD is a square of side

6 cm and CDE is an equilateral triangle. Find


https://dl.doubtnut.com/l/_hEa6JJ88E1SS
https://dl.doubtnut.com/l/_rjlpDJTKVkwA

the perimeter of the figure.

£

A 8

o Watch Video Solution

5. The edge of a cube is 3 cm. Find the total

surface area and the volume of the cube.



https://dl.doubtnut.com/l/_rjlpDJTKVkwA
https://dl.doubtnut.com/l/_giZmwqoiCNrx

I D Watch Video Solution I

6. Water the number of vertices, edges and

faces of a pentagonal pyramid ?

o Watch Video Solution

7. A contianer of dimenstions
20cm X 1bem X 5cm is full of water. If it is
lekaing at the rate of 25 millions per second,
then how long will it take to enpty the

container ?


https://dl.doubtnut.com/l/_giZmwqoiCNrx
https://dl.doubtnut.com/l/_DLJGUF90S8C2
https://dl.doubtnut.com/l/_KytQ8PyHm0Vi

° Watch Video Solution

8. Four identical cubes of edge 5cm are placed
side by side to form a cuboid of length 20cm.
Find the total surface area and volume of the

cuboid.

o Watch Video Solution

9. There is a cubical box of edge 6 cm. it s top

and bottom are covered with red colour


https://dl.doubtnut.com/l/_KytQ8PyHm0Vi
https://dl.doubtnut.com/l/_DamO9bFZ2hPN
https://dl.doubtnut.com/l/_KtMnfyenUsD1

canvas and the other four faces is coverd with
blue colour canvas. How much red colour and

blue colour canvas cloth is required ?

o Watch Video Solution

10. A car runs 20 times around a rectangular
track which is 200-m long and 150-m wide. How

much distance does the car cover ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KtMnfyenUsD1
https://dl.doubtnut.com/l/_FHPWSt7DDoyS

1. Find the perimeter of an equilateral

triangle with side 8 cm.

° Watch Video Solution

12. Border of a square-shaped frame which is
16-cm long needs to be painted. If the cost of
painting 1 m of border is rupees 4, how much
would it cost to paint the entire border of the

frame ?

° Watch Video Solution



https://dl.doubtnut.com/l/_y2JDsgDLN4qV
https://dl.doubtnut.com/l/_5b2hHSRIbmPP

13.A 10 -m long hall has a floor area of 100m>.

Find its perimeter.

o Watch Video Solution

14. The perimeter of a 40-cm wide rectangle is

160 cm. Find the area.

o Watch Video Solution



https://dl.doubtnut.com/l/_5b2hHSRIbmPP
https://dl.doubtnut.com/l/_307KKJA0phOZ
https://dl.doubtnut.com/l/_djbQfbyLnubr

15. A cube -shaped oil tank which is 1.5-m long
is full of oil . If 500L of oil spills out from the

tank, how much oil remains in it?

o Watch Video Solution

Crossword



https://dl.doubtnut.com/l/_HTzxUep1e9MQ

. A quadrilateral of equal angles
. The region bounded by the sides of a plane figure

. A rectangle with cqual adjacent sides
. Total length of the boundary of a plane figurc
. A solid with rectangular faces

. These are twelve for a cube or cuboicjl

. Hundred centimetres

. One-hundredth of a metre
. Amount of space occupiced by a solid
. The edges of cuboid meet here

. These are six for a cube or cuboid

. A solid with square faces

° View Text Solution



https://dl.doubtnut.com/l/_zxZRLFvRtY9o

